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문제 1
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[image: image3.png]+ Overflow condition
— add two positive numbers to get a negative number
— add two negative numbers to get a positive number
— Overflow when carry into sign bit position is not equal to carry-out
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문제 2
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문제 3
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문제 5
[image: image9.emf]10111 V

11110 V

m23

m30

-0111 V

-1110 V

10-11 V

101-1 V

1011- V

1-110 V

00111 V

01110 V

10011 V

10101 V

10110 V

m7

m14

m19

m21

m22

-0-11 *

-011- *

--110 *

10--1 *

101-- *

00-11 V

-0011 V

0011- V

0-110 V

-0110 V

100-1 V

10-01 V

1010- V

101-0 V

00011 V

00110 V

10001 V

10100 V

m3

m6

m17

m20

-00-1 *

-01-0 *

000-1 V

-0001 V

001-0 V

-0100 V

00001 V

00100 V

m1

m4

0000- *

00-00 *

00000 V m0

10111 V

11110 V

m23

m30

-0111 V

-1110 V

10-11 V

101-1 V

1011- V

1-110 V

00111 V

01110 V

10011 V

10101 V

10110 V

m7

m14

m19

m21

m22

-0-11 *

-011- *

--110 *

10--1 *

101-- *

00-11 V

-0011 V

0011- V

0-110 V

-0110 V

100-1 V

10-01 V

1010- V

101-0 V

00011 V

00110 V

10001 V

10100 V

m3

m6

m17

m20

-00-1 *

-01-0 *

000-1 V

-0001 V

001-0 V

-0100 V

00001 V

00100 V

m1

m4

0000- *

00-00 *

00000 V m0


[image: image10.emf]X X X X 101--

X X X 10--1

X X --110

X X X -011-

X X -0-11

X X X -01-0

X X -00-1

X 00-00

X 0000-

23 22 21 20 17 14 7 4 1

X X X X 101--

X X X 10--1

X X --110

X X X -011-

X X -0-11

X X X -01-0

X X -00-1

X 00-00

X 0000-

23 22 21 20 17 14 7 4 1


[image: image11.emf]X X X X 101--

X X X 10--1

X X --110

X X X -011-

X X -0-11

X X X -01-0

X X -00-1

X 00-00

X 0000-

23 22 21 20 17 14 7 4 1

X X X X 101--

X X X 10--1

X X --110

X X X -011-

X X -0-11

X X X -01-0

X X -00-1

X 00-00

X 0000-

23 22 21 20 17 14 7 4 1


문제 6
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문제 7
[image: image15.png](1) slow down the system clock

this gives the synchronizer more time to
decay into a steady state;
synchronizer failure becomes a big
problem for very high speed systems
(2) cascade two synchronizers

this effectively synchronizes twice (both
would have to fail)
(3) use fastest possible logic technology in
the synchronizer
this makes for a very sharp "peak" upon
which to balance





문제 8
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문제 9
Hole Time Violation 
버퍼 등을 이용하여 딜레이를 삽입하여 해결
문제 10
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문제 11
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— 1-bit dedicate to sign, rest represent the magnitude
— Add, Subtract : Must compare magnitudes

¢ 1's complement

— Two representations of 0 : causes some complexities in
addition

— simply compute complement ( bit-wise complement )
e 2's complement
— only one representation for 0
— one more negative number than positive numbers
— Simple addition and subtraction
— Addition is needed to make complement
( bit-wise complement + 1)
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